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Question Number : 1 Question Id : 4771877796 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement regarding growth, development and

maturity of the child
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Options :
Development refers to growth as well as behavioural changes
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Question Number : 2 Question Id : 4771877797 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B

List-A List-B
—
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(Development) (Theme)
WHRR, (Do)
A}  Erikson's Psycho-Social 1)  Depends on concrete and abstract
Development thinking abilities
WO & U0 HRAT-TRIoNE Toog;ets® ThoEy, ©TLeIF WBoEm
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B)  Piaget's Cognitive Development 11)  Depends on experiential learning
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C)  Carl Roger's Self Development 11) Depends on universal ethical
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iv} Depends on the result of child
interaction with his social

environment

Choose the correct one
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Options :
A1, B-iv, C-11
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A-1, B-11, C-n



A-1v, B-1, C-11
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A-1m. B-1wv, C1

Question Number : 3 Question Id : 4771877798 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Erik Erickson’s ‘Psycho-Social Development Theory', a student of

(Class-IX 15 1n this stage of crisis
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Question Number : 4 Question Id : 4771877799 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the external factor, that influences Child

Development
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Physical environment
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Question Number : 5 Question Id : 4771877800 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide
adequate learning experiences for every learner according to thier
individuality
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B) Adjusting the curriculum
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C) Adjusting the methods of teaching
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D) Proper knowledge of the individual’s potentialities

Choose the correct one:
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B.C. D only
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Question Number : 6 Question Id : 4771877801 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+

grade. This reflects that her

Options :

Chronological age 1s greater than Mental age
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Mental age 1s less than Chronological age
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Mental age 1s greater than Chronological age
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No relation between Chronological and Mental age
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Question Number : 7 Question Id : 4771877802 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
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Options :
Preparation. Verification. Incubation, Illumination
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Preparation, Incubation. Illumination, Verification
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Verification. Preparation. Incubation. Illumination

—t e e — AU 11 Sy N T L | —
2:4-5&2':-'\'..-:\.., ! b51 Tmagbet@mNT | E,50T

Preparation, [llumination, Incubation. Verification



Question Number : 8 Question Id : 4771877803 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following iz NOT an example for primary reinforcement
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Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Question Number : 9 Question Id : 4771877804 Question Type : MCQ Option Shuffling : Yes Display

As a teacher, which test do you use to assess the aptitude of vour students?
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Thematic Apperception Test
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Raven’s Coloured Progressive Matrices
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Question Number : 10 Question Id : 4771877805 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school. which among the following

lead to maladjustment. criticism among teachers and students?
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Options :

Social adaptability and maturity

Participative leadership
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Authoritarian leadership
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Self-confidence and positive approach



Question Number : 11 Question Id : 4771877806 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which method 1= more applicable to guide the student. who 1s facing the

problems like aggressiveness, anxiety, shyness, temper tantrums and poor

academic performance?

T R B By e Ry T = 5 = R = L A | A S s Joh - RE PR

Skl B, WECE, -quJ?_‘Ec.E, 5&5...;,?;@5‘5 w8y, BYEm I EITT TOOWFETLELNCE=
== Lo ok

— o . o ol il B il gl T — — R S TP PR | . pp— - — T, g —

AToRNTNY, webawd Tim uwbb@lrﬁ WoINFRErFN RO CI00E  WfidNEy  Seiloy

Options :

Cross-sectional method
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Casze Study method
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Cumulative marks record
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Question Number : 12 Question Id : 4771877807 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory', the child exhibits this

at Pre-Operational stage

Options :
Logical thinking
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Question Number : 13 Question Id : 4771877808 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning
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Changes due to practice
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Changes due to experience
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Changes due to training
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Changes due to maturation
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Question Number : 14 Question Id : 4771877809 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

B -A
(Intelligence)
(290 Td,)
A) Spatial intelligence
T, WedT OB TS,
B) Interperzonal intelligence

0BT ol Thd,
C) Intrapersonal intelligence
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Choose the correct gne
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Options :

A-m, B-1, C-n
1. ®

A-1, B-i, C-mn
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Question Number : 15 Question Id : 4771877810 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following
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Options :
Differential Aptitude Test - Wechsler
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Client Centred Approach - Carl Rogers
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Question Number : 16 Question Id : 4771877811 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory 1s related to cognitive learning?
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Options :

Learning by Insight
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1. v
Learning by Conditioning
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Learning bv Trial and Error

g o]

Zodnen =, BRIET TruE 308

3. %

Imprinting



Question Number : 17 Question Id : 4771877812 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1= made to
respond 1n the same way 1n response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning
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Options :
Extinction
1. % &

Spontaneous recovery
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Stimulus generalisation
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Question Number : 18 Question Id : 4771877813 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.
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A Identification of associations. similarities and dissimilarities among the
learning situations
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B Developing proper ideals and imbibing them to perform things in future
ROCInT BRIFniTRs, BuR, D Eainn mEy, gom,;nd,, fuandss,
ATFLACS BRNTR, BYRRATATL, TS

C) Building generalisations and making their use in further learning
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Question Number : 19 Question Id : 4771877814 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

associated with one’s life

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Rote memory
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1.
Semantic memory
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2.
Short-term memory
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Senszory memory
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Question Number : 20 Question Id : 4771877815 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

o niERe, NaTadd

A) Reward and Punishment
=80 W, 8%

B) Success and Failure
chIF, T, 8,580,

C} Level of Aspiration
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Options :
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Question Number : 21 Question Id : 4771877816 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as
per the Ebbinghaus experiment
QWL Bodant &0 20 AENY To3T SEmwc miEE
Options :
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Question Number : 22 Question Id : 4771877817 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson
due to fatigue. The Thorndike's law of learning that 1z NOT followed by the

teacher here 1=

Options :
Law of use
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Question Number : 23 Question Id : 4771877818 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory
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Options :

Social interactions are basis to higher order mental processes
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Learning is the product of association between stimulus and responses
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Language plays a vital role in cognitive development
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Question Number : 24 Question Id : 4771877819 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom
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B) Physzically disabled children
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C) Academically differentiated children

o -

EBIToN BoMaEl ToB.90

— o

- 3
wsEﬁEmﬁ M zq.:,huw.d T LT

D) Mentally ex cePtmna] children
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Choose the correct one
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Options :
A, B, C only
A B.C ==g

B.C.Donly

B.C. D =%g,
2. %

A, C.Donly
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3. %
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Question Number : 25 Question Id : 4771877820 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education. the specially trained teacher moves from

one school to another and assists the differently abled children

™ =

= @ % y 3 S - 2 i
— — — — -, = — T ! - | - - — - T —
=1 EoEnre M&wa:&ufe’m =t ch?w':.n‘ﬂ_,_, ol bl SoWLtE Rt ';':_\EJ'EW Ot Seluooto
) ‘
-, ) = - - R - - Y, PRI PP, - | [ [N [ Dl o et | L i |
TNER. 0T TUTN BE0Y LR, FOTLEF ZRoBITIT BE,FN A% TREEL,0
1 .

Options :

Itinerant teaching model
1. v

Resource model
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Question Number : 26 Question Id : 4771877821 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept
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Self-concept 1= the image of oneself
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Real self-concept reflects one’s actual perception of oneself
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Differential Aptitude Tests measure the gap between real self and 1deal
self
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Question Number : 27 Question Id : 4771877822 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning

2 - e L P | . — P - o
258 Frolye FEEN = AR AmRnTd | wel IR AR

Options :

Brain storming

e T e o o, T
Dokt borad T ) B et b T
1. #
Demonstrations
Eafteviotor gt
2. ¢
Discussions
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Question Number : 28 Question Id : 4771877823 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

S=0 ¥0Ech QW HFMYY,, NRndR, VU, B 28300 58F0n Aok BREE.E
A)  Group processing
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B) Individual accountability
2,008 8 ZeEmoE
C) Face to face interactions
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D) Positive interdependence
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Choose the correct one
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Options :
A.B.Donly
A B.D=msE
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ABC 0111}'
A B C==g
2. %
B.C. D only
B.C.D ==s
3. %
ABCD
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Question Number : 29 Question Id : 4771877824 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to this section of Right of Children to Free and Compulsory
Education (RTE) Act-2009, ‘No child shall be subjected to physical

punishment or mental harassment’
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Question Number : 30 Question Id : 4771877825 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger

on students in the classroom. This 1z an example for this defense mechanism
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Options :
Rationalisation
LM Kol
1. #®
Displacement
F FocET
2.
Projection
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3. %
Compensation
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Language 1 Kannada
Section Id : 477187247
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187392

Question Shuffling Allowed : Yes



Question Id : 4771877826 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 33)
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Sub questions

Question Number : 31 Question Id : 4771877827 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 4771877828 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 4771877829 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 477187393
Question Shuffling Allowed : Yes



Question Id : 4771877830 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (34 to 36)
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Sub questions

Question Number : 34 Question Id : 4771877831 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 4771877832 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
o DTendeford ol oD

Options :



AT =ond

4 % BT

Question Number : 36 Question Id : 4771877833 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed :
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Question Number : 37 Question Id : 4771877834 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 38 Question Id : 4771877835 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 4771877836 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771877837 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 4771877838 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771877839 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771877840 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771877841 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 4771877842 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771877843 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771877844 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R — ; . J— g 3 ;
g0, B, [, P W, P, D - T TEFNHL DT WD
Lo 3

™

B0
] % )
:‘c\ra@'?mé
2. %
3.
4% AT

Question Number : 48 Question Id : 4771877845 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771877846 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771877847 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771877848 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771877849 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771877850 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771877851 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 55 Question Id : 4771877852 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display
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Question Number : 56 Question Id : 4771877853 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771877854 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771877855 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 59 Question Id : 4771877856 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771877857 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language 11 English

Section Id : 477187248
Section Number : 3

Section type : Online



Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
26

26

30

0

1
477187395
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Question Id : 4771877858 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were plous to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771877859 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.
1. #

Western education.
2. ®

association with Mahatma Gandha.
3. ¢

positions in the British government.



Question Number : 62 Question Id : 4771877860 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What era 1s mainly discussed in the passage?
Options :

Pre-independence era
1. v

Mughal-era

2. %

Post-independence era
3. %

Modern era
4. %

Question Number : 63 Question Id : 4771877861 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness

Hard work

High moral standards

Question Number : 64 Question Id : 4771877862 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the expression "leaders of the yore" refer to in the passage?

Options :

Leaders from foreign countries

1. #

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. ®

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771877863 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187396
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771877864 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.

B) Later. he felt guilty about his behavipur.

C) During the meeting. Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B,A. D

C,E.B,A, D

B.C.E.A.D

C.E.D.A. B



Question Number : 67 Question Id : 4771877865 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1= correct.

1. ¢

Only the Sentence B 1s correct.

Both the Sentences A and B are correct.
3. ®

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771877866 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Dezpite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. ®

the, the

a, the

an, the
4.«



Question Number : 69 Question Id : 4771877867 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child 1n the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. %

frighteaned
3. %

frightened
4.¢

Question Number : 70 Question Id : 4771877868 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :



Question Number : 71 Question Id : 4771877869 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vha ev expected was to begin at six the performance.
What they expected to begin at six the perfi
1. #

) @ What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771877870 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up yet.

Choose the correct option to complete the sentence.

Options :

get gver
1. ®

sent off
2. ¢

finds out

glve 1In
4. %



Question Number : 73 Question Id : 4771877871 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :



Question Number : 74 Question Id : 4771877872 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1. v

He asked her why didn't she inform him about the change in schedule.

2. %
. He asked her why she did not inform him about the change in schedule?
3.
He asked her why has she not informed him about the changed
schedule.
4. %

Question Number : 75 Question Id : 4771877873 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never actz so rudely, ?

Choose the correct option to complete the sentence.
Options :

% don't he

does he
2. ¢

doezan’t he

did he
4. %



Question Number : 76 Question Id : 4771877874 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon'.

Options :

phenomenas
1. #

phenomena
2. ¢

phenomenon
3. ®

phenomenae
4. %

Question Number : 77 Question Id : 4771877875 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT szentence.

Options :

When she entered the room. evervone was talking loudly.
1. ®

While he was watching TV. the phone rang.

After she finished the exam. she goes to the canteen.

By the time we arrived, the guests had already left.



Question Number : 78 Question Id : 4771877876 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She vizits her hometown once 1n a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very ravely
1.¢¥

dav by day

2. %

day after day
3. %

regularly
4. %

Question Number : 79 Question Id : 4771877877 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?
Options :

The men have been exhausted with the hard work.

1. #

The men are exhausted with the hard work.
2. ®

The men had been exhausted with the hard work.
3. ®

The men were exhausted with the hard work.
4. &



Question Number : 80 Question Id : 4771877878 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serlpus.

1. ¢

I have been quit serious.

2. ®

I was quite serious.
3. ®

I had been quite serious.
4. %

Question Number : 81 Question Id : 4771877879 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. #

quarrel
2. ®

friction
3. ®

agreement
4. ¢



Question Number : 82 Question Id : 4771877880 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

on
2. ®

by
3.

off
4. %

Question Number : 83 Question Id : 4771877881 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “impossible” is a/an
Options :
verb

1. ®

adjective
2. ¢

1gun

adverb
4. %



Question Number : 84 Question Id : 4771877882 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2. ®

whom

which
4. &

Question Number : 85 Question Id : 4771877883 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW skills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in isolation

1. #
Developing language skills independently
2.
v Using real-life contexts to enhance language skills
3. %

Relving onlv on writing assignments
4. %



Question Number : 86 Question Id : 4771877884 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 15 broader than an approach.

1. #
An approach is a set of classroom activities.
2. ®
A method 1s the theoretical basis, while an approach 1s its application.
3. ®
An approach is a theoretical viewpoint; a method is a practical plan for
implementation.
4.«

Question Number : 87 Question Id : 4771877885 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforcing vocabulary in voung learners?

Options :

Dictation
1. #

Grammar drills

3 ¥ Word games and picture associations

Writing reports on vocabulary
4. %



Question Number : 88 Question Id : 4771877886 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

“During a courtroom trial. a juror listens to the defence attorney’s argument

to judge its logic and truth.” This type of listening 1s known as
Options :

Selective Listening

1. #

Discriminative Listening
2. ®

Critical Listening
3.¢

Appreciative Listening
4. %

Question Number : 89 Question Id : 4771877887 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :

to pass or fail the students based on their performance.

1. ®
to 1dentify the learning difficulties of the students and improve
teaching.

2.¢¥
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.

: Yes Display



Question Number : 90 Question Id : 4771877888 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A psvcholinguistic barrier in learning English refers to the

Options :

lack of playground.

poor classroom seating.
2. %

fear of making mistakes.

familiarty with foreign culture.

4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

477187249
4

Online
Mandatory
60

60

60

0

1
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Question Number : 91 Question Id : 4771877889 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Siwalik Mountamn ranges run parallel to the Lesser Himalayas for a

distance of about 2400 kms from

Options :
Hindu Kush Mountain Ranges to Brahmaputra Valley

o o
o — - - e el ) el ottt T
SotaJ2 Eu;-" EA.‘HUFE ijit :-H‘:’C Lm?,-"‘ﬁ-"%} uL'b“‘wGu\.-Cw

=
1. %
Potwar Plateau to Hindu Kush Mountain Ranges
BREED T 5, Pedolien Lole 303° Zwre Jerdngs
S <
2. %
Potwar Plateau to Brahmaputra Valley
BRI T TR Pelchend wE.BE; Fe3scion
3.

Rivers Ghaggar to Teesta



Question Number : 92 Question Id : 4771877890 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The words latitude and longitude are derived from the Greek words ‘Latitudo’

and ‘Longitudo’ respectively. which means

Options :
Length and width
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revolving and rotating
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2. %

height and depth
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3. ®

width and length
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Question Number : 93 Question Id : 4771877891 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Statement that best describes the ‘Inversion of temperature’
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Options :
An increase 1n temperature with height
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A decrease in pressure with altitude
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A constant temperature at all heights
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Question Number : 94 Question Id : 4771877892 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Meteorologist and Geophysicist had hypothesised that the super continent

of Pangaea broke up to form Laurasia and Gondwana Land

: e, e, s e v, et i & o B
B SEEETR.E E, Pe P8R, 1kt ToNcine wimEE R Dory ©adedodn
= - — — T o, e, e T . — T, P -—
:.'5..-3..-_ i'lu?G\.ﬂL_;"hL #uﬁaf‘.—:u-.:uzum‘ :1?:uﬁf.fu' ;_321.'5 :G:L-LO'M&H = 3::\.1 uubanguﬁ?w
Options :
Alfred Wegner
=S, = wn T
1. ¢ =
z ] T
Mareia McNutt
—— . T
MLNFM& Z«.\.-F Pl b
2. %
Harold Zaffreys
— - —
R=TTT, WO R
3. %

Zhang Heng

— -
Hoon® oom”



Question Number : 95 Question Id : 4771877893 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Submarine Canyons are observed in this region of the Ocean Floor
FNTE SYenin S8 Y ReIRD,, woReEmrds FIRNTR, MedISAS

Options :

Continental Shelf
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Continental Slope
LomRTD TS
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Abyasal Plain
BRACT 2, R
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Oceanic Deep



Question Number : 96 Question Id : 4771877894 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

& ;U0 DoBTI, "TRuteAcha’ FEhotyw wYEs A wos Flchoand, B
Options :
Mt.Pelee in West Indies
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Fujivama in Japan
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Stromboli in Sicily
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Question Number : 97 Question Id : 4771877895 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this part of India, Red Soils develop on crystalline and igneous rocks in the

areas of low rainfall

Options :
Eastern and southern parts of the Deccan plateau
3,5 TR Pelioh Fpmr wiBy, TED RN
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Andaman and Nicobar island Region
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North western part of Indo Gangetic plain
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Question Number : 98 Question Id : 4771877896 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Directorate of Economics and Statisties, Ministry of Agriculture,

2017, the percentage of land under Net Sown Area 1s

Options
18.11%
1. ®
) & 45.5%
23.3%
3. %
54.5%



Question Number : 99 Question Id : 4771877897 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. the project constructed across the river Mahanadi 1s
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Options :

Sardar Sarovar Project
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Question Number : 100 Question Id : 4771877898 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Second largest producer of Paddy in the world is

Palastan
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Question Number : 101 Question Id : 4771877899 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following is NOT the form of Cloud
&1 BPRARRNTD,., wotds mrerER Tn
Options :
Cirrus
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Question Number : 102 Question Id : 4771877900 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These forests are grown in the higher latitudes between 50°and 70° of the

northern Hemisphere
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Options :

Mediterranean Vegetation
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Question Number : 103 Question Id : 4771877901 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Cold Current from among the following
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Options :

West Australian Current
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Question Number : 104 Question Id : 4771877902 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The annual insolation received by the earth on 3™ January is slightly more
than the amount received on 42 July, because
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Options :

The earth 1s nearest to the Sun

Fednode ARchFin 23,009 3
1.v
The earth 1= farthest from the Sun
PRER0IN FRCHFAE 8,08 BetEY, 3
2. %

The earth i1s neither nearest nor farthest from the Sun
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The length of the day 1s more
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Question Number : 105 Question Id : 4771877903 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi's weight 1s 80 Kgs and his height 1s 1.79 mts. Then. the BMI of Raviis

Taioh ST 80 X8 TS, ¥R wE, 0 1.79 SorkiT®, ©n, Taots Wewo®w

Options :

44.69
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) 24.96

6.24



Question Number : 106 Question Id : 4771877904 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding the distribution of workers among the

different sectors of the economy as per the data given in 2017-18

£
1l
gl
(h
i
el
&l
(]
£
el
Y
¢
Ty
i [
2

2017-18 Efx,ﬂ NERERE @033 =50 E:i&i:—'Eﬁ:‘S; e
LFTEeh Wi, F00RE Seg2cdhas, ricTads
Options :
The workers in the Industrial and Service Sector are more than the

Agricultural Sector

2,05 i, At Buchnd, & PEFEt: B4 mocheof 28,,00,.0
1. #
The workers in Agricultural Sector are more than the Industrial and
Service Sector
3,0 BUCHBO,. T FIQLFE0s 8,05 w8, Aem Rockd,; o8 X, 8
2. ¢
The distribution of workers 1n three sectors 1s same
=T peohngd = st LE0E Lot SHE
3. %

The workers in service sector are less than the Industrial Sector
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Question Number : 107 Question Id : 4771877905 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the rural areas in India, the main demand for credit is for
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Options :

Purchase of agricultural land

Construction of houses
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Crop production
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Undertaking business activities

et e, L 7 o et ) e e - e —
T, Bl i 2 &uuhﬂuéfi%wv éﬁ-ﬁuﬁac‘fvgjht:WH
e} L



Question Number : 108 Question Id : 4771877906 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, Aadhar Enabled Payment System (AEPS) 1s offered by

|
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Reserve Bank of India
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2. %
National Payments Corporation of India
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Question Number : 109 Question Id : 4771877907 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The employees working in the State and the Central Government offices get an
additional payment called ‘Dearness Allowance’ or D.A. to

A s v 2 o ol et = — = P g - Vg
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Options :

Increase their income so as to meet the Increasing inflation
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Keep additional income in the hands of employees
YoEweehny 8,009, 2w, =0 smchEn, bIREs
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Increase the purchasing capacity of employees
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Make the emplovees rich



Question Number : 110 Question Id : 4771877908 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The range of Human Development Index Value 1s
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e ) T &q-h.: e -s.»..'EEEn-EE M‘vaw Rl 2 E'\'-A-'_.WJU
it & .

Options :
1 to 100
L% 1 8= 100
Oto 1
0 Sos 1
2.
—0.1t0 0.1
—0.1 52% 0.1
3. %
1 to 1000

1 Se= 1000



Question Number : 111 Question Id : 4771877909 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Year 2000 is the base year. In 2001, the average prices of all goods have been

increased by 10%. whereas in 2002 they have been increased by 15%. Then,

the Price Index in 2002 1s
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Options :
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Question Number : 112 Question Id : 4771877910 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These are used to calculate the Dearness Allowance to be paid for Government

Employees to revise legal wage rates
TRATIWE,, NS WONERy, TOR,03w0 AT0rd FUEC0R mmaRUlern Sk, P 00R0,
&7, o800 uRnvR, weRoYnE.d
Options :
Wholesale Price Index
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Consumer Price Indices
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Retail Price Index
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Producers Price Index
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Question Number : 113 Question Id : 4771877911 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Removing barriers or restrictions set by Government 1s known as
ATFOY ANDERAT VRESHENT: v Jwropnds, Snmi=somyms, S00henE. &
Options :
Economic liberalizsation
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1. v :
(Globalization
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2. ®
Privatisation
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3. ®
Nationalisation
4 % EE:-E_J :EGC‘Q



Question Number : 114 Question Id : 4771877912 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During inflationary situation, the Reserve Bank of India reduces the money in

circulation in the economy to
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Increase the purchasing capacity of the people
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Malke the money available only to the poor people
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Reduce the purchasing capacity of the people
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Discourage savings in the bank so as to keep more money in the hands of

the poor people



Question Number : 115 Question Id : 4771877913 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Act/scheme mandates that it 1= the responsibility of the Government to
provide manual work on demand and the wages to the workers and the capital

needed are to be paid by the Government

Options :

National Food Security Act, 2013

Todi, 000 EZ00 PR,se 2ok, 2013
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Pradhanamanthri Anna Yojana
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The Factories Act



Question Number : 116 Question Id : 4771877914 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gautham Buddha suggested the Ashtanga marga (Eight—fold path) for
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Making the people aware of the four noble truths
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Elimination of human misery
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Question Number : 117 Question Id : 4771877915 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following books was NOT authored by Acharya Nagarjuna
B B9AE I ENYY_ wodRe, HiFohF TSI FRTE wihe,,
Options :
Sunyavada
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Question Number : 118 Question Id : 4771877916 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The construction of these two temples in Rajasthan 1s considered as the most

notable contributions of the Jains to the domain of architecture
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Dilwara Temple and Mount Abu
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Question Number : 119 Question Id : 4771877917 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary objective of the Marshall Plan was
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Options :
To spread communism in Europe
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Question Number : 120 Question Id : 4771877918 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. the Harappan Civilisation Sites located in India were

il
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Kalibangan, Chanudharo and Lothal
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Question Number : 121 Question Id : 4771877919 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Chola Inseription, ‘Pallichchhandam’ refers to
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Options :

Land donated to Jain Institutions
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Land gifted to Brahmins
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Land for the maintenance of a school
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Question Number : 122 Question Id : 4771877920 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The archaeologists are of the opinion that the city of Vijayanagara had four

separate divisions. Among the four divisions. the first division was

Options :

situated on rocky hills which was devoted to temples.

Deroohnen LoeRoenti® 79,8 Wil e oed 1,
1.¢¥
situated on the valley where crops were raised using water from
irrigation channels
ReTIRB BN AeTHo, WYA W, Y93 seddehd,, s
2. %
a roval centre in which roval palaces and residences of important nayaks
were located
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Residences of ordinary people
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Question Number : 123 Question Id : 4771877921 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Mehrauli Iron Pillar’ Inscription refers to the achievements of

Samudragupta
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Gautamiputra Satakarni
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Question Number : 124 Question Id : 4771877922 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In France, these philosophers wanted to create a society based on freedom and

equal laws and opportunities for all
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John Locke, Jean Jacques Rousseau
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Noam Chomsky and Karl Marx
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Question Number : 125 Question Id : 4771877923 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the main demand of women during French Revolution was that
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Options :

the women should get the same political Rights as men
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1. ¢

all the women should be included in the list of Active Citizens
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Napolean Bonaparte should be made the King of France
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The power should be in the hands of third estate
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Question Number : 126 Question Id : 4771877924 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per this, no European power would be allowed to build colonies in the
American Continents and the United States will not interfere in the affairs of

Europe or colonies in other continents
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Truman Doctrine
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Question Number : 127 Question Id : 4771877925 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Libya is located in this part of Africa Continent
JWoln w5 DoERE 2 Pansd,. B
Options :

North-Western
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Question Number : 128 Question Id : 4771877926 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the provision of Right of Children in Free and

Compulsory Education (RTE) Act, 2009

Options :

The Curriculum and Evaluation procedures must be in conformity with

the values enshrined in the constitution
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Every Child should be admitted into the school at the age of three
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2. %

Children can continue in the school even after 14 years of age for the

completion of Secondarv Education
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Question Number : 129 Question Id : 4771877927 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With this act. the minimum age of marriage for girls was raised to 14 vears
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Options :

The POCSO Act, 2012
Spedn,, BBICHT, 2012

Sharada Act of 192
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Child Marriages Act, 2006
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Criminal Legal Amendment Act, 2013
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Question Number : 130 Question Id : 4771877928 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1953. the States Reorganization Commission was appointed under the
chairmanship of Fazal Al to address the issue of formation of states on the
basis of
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Question Number : 131 Question Id : 4771877929 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Operation Blue Star was
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To conduct election in the newly formed states
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1. ®

To clear the Golden Temple complex in Amritsar from Sikh militants
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To fight the Pakistan militants in Jammu & Kashmir
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Liberation of Bangladesh from Pakistan
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Question Number : 132 Question Id : 4771877930 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The major highlight of the National Emergency period in India was

TRTERY,, Tod, t0% SuBF T2A 300 WRRN WL e 0TR0RT
Options :
4274 Appendment of the Indian Constitution
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Entry of Rajiv Gandhi into Indian Politics
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2. %

Enactment of Official Religious Act
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3. %

Formation of New states on the basis of linguistic principle
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Question Number : 133 Question Id : 4771877931 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the provisions of Article 356 of the Indian Constitution. the President may
dismiss the State Government and order the Governor to take over the

administration of the State with the advice of
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Options :

Chaief Justice of India

% [rpletctafiov e BR S n Elevenlale-Tet
Home Minister
Nn.= [T

2. % ¢
The Prime Minister
;508 Tecs,

3.¢

Chief Justice of High Court of that particular state
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Question Number : 134 Question Id : 4771877932 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The two major ideological and political Camps emerged in the post second world

war period were

Options :
The Communist bloc and Non-aligned bloc
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The Democratic — Capitalist bloc and Non-aligned bloc
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The Communist bloc and the Democratic — Capitalist bloc
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3. ¢

Fascist bloc and The Democratic bloc
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Question Number : 135 Question Id : 4771877933 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A war fought behind closed doors through propaganda and words., without real

physical combat as in traditional warfare. This 1s known as

Options :

2.

Guerilla war
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Nuclear war



Question Number : 136 Question Id : 4771877934 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘CIA” 15 the
‘CIA’ womd
Options :
The spy agency of United States of America
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1. ¢

The militant group of Russia
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A radical student group fought for their rights
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The space agency of United States of America
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Question Number : 137 Question Id : 4771877935 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary aim of the Bandung Conference was to

Options :

Establish a new military alliance
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Promote Western democracy
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Promote Afro-Asian economic and cultural cooperation
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3. ¢

Expand colonial territories
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Question Number : 138 Question Id : 4771877936 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is termed as ‘Excess Rainfall'?
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Options :
+20 percent or more of the average rainfall
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+10 percent or more of the average rainfall

Foo=D =don +10 2,232 ugm Sk,

2. ®
+19 percent to -19 percent of the average rainfall
=oo=D shecdh J+H19 = &y 222807 -19 %é;g

3. ®

-20 percent to -39 percent of the average ramnfall

FooRD =Peh-20 =,832he: 59 ;83

(':Il



Question Number : 139 Question Id : 4771877937 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following does NOT come under cognitive domain.
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Options :

Drawing

SeamudE,
2. ¢
Understanding
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Evaluating



Question Number : 140 Question Id : 4771877938 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to aims & objectives.
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Almes are specific and achievable in short time.
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3.
Aims are the guiding principles in education policies.
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Question Number : 141 Question Id : 4771877939 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Translation. Interpretation and Extrapolations are the specifications under

this objective in social studies.
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Synthesis
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Evaluation
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Question Number : 142 Question Id : 4771877940 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A class — IX student is actively involving in classsroom activities, respecting
the opinions of his friends. working with them and helping others. These

activities are reflecting the learning indicators of this academic standard
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Appreciation and sensitivity
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Conceptual understanding
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Reflection on contemporary issues and questioning
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Question Number : 143 Question Id : 4771877941 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following principle of curriculum development relates to importance of

Iinking the social studies content with daily life problems and experiences.
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Options :

Principle of creativity
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Principle of flexibility
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Principle of conservation
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Question Number : 144 Question Id : 4771877942 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the INCORRECT statement
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Options :

In subject centric approach, lessons are loaded with informative

content.
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1. #
In constructivist approach. teacher follows chalk, talk method.
TuTRE, B OFRnd,,, 2EFCL AcThRu,,, BREiEE AmEws, BRiI0bRE.T,
2. ¢
In child-centric approach. knowledge construction takes place through
active participation.
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Question Number : 145 Question Id : 4771877943 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the learning experience placed at third from the
base of the cone 1n the order of increasing abstractness in Edgar Dale’s Cone of

Experiences

Options :

Motion picture

LBONEE,
1. #
Demonstrations
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2. %
Dramatic participation
Totigech PAnwmLsedE
3.

Contrived experiences
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Question Number : 146 Question Id : 4771877944 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Lithosphere, Atmosphere and Hydrosphere come under this branch of
Geography.
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Options :

1. ®
Regional Geography
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Political Geography
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Question Number : 147 Question Id : 4771877945 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
After observing the places ike Shimla, Darjeeling and Nainital. etc., a class-X
student came to a conclusion that, when height of a place 1s increasing. the

temperature 1s decreasing. The learning approach that is reflected here 1s
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Question Number : 148 Question Id : 4771877946 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A visit to water works, printing press, telephone exchange & railway station

majorly help in learning about these resources.

Options :

Geographical
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Question Number : 149 Question Id : 4771877947 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the characteristics of good evaluation tool among the following
& FPRATPNLY,, VT TRC;RRET TFIE NodCg TRy, Miidd
A) Practicability
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C)  Objectivity
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D) Reliability
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E) Validity
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Choose the correct gne:
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2. %
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3. ¢

B.C.D & E only
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Question Number : 150 Question Id : 4771877948 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B. regarding component teaching skills

assoclated with different stages of a lesson.
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(Stage of lesson)
(w283 =o3)
A) Planning stage i)

C) Presentation stage 111 )

D) Closing stage iv)
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List-B
=,,-B
(Component teaching skill)
(@o3 Bnegm F3v;)
Demonstrating
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Giving asslgnments

Introducing the lesson
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